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FaFSNME==y, 56,650,116 45,710,605 9,939,511
= 4,434,590
[ 12,136,050
Il 76,725
< 5,859,090
= 33, 143,661
AR 3,349,492 11,558,523 /8,209,031
[ 1,000,000
= 10,000
= 2,339,492
SADIENN &8s 3,142,092 2,198,523 943,569
= 1,000,000
Ea 2,142,092
SAIAEAIZ 2] 1,260,262 1,337,141 76,879
201 er2 3| 91,022 87,901 3,121
01 AtR2te|HI 17,310 17,310 0
OZH&=z2he3s =&
150,000 62 102 9,000
O=A&?A3 +¢
150,000& 15 «12] 2,250
O=AAHE =z OI=2A SUH=
300,000& * 12043 3,600
OAHLZ0F SFAHE M M=
60,0002 x25& 1,500
Oz A= 2823 7Y
96,000& 102 960
2 s5=34l 73,712 70,591 3,121
OZAIHE AE SAI2e(EE, 21
2, A wH S 3,000, 000& *152] 45,000
OZAIHE 22ANE 2223
500,000& * 122 6,000
OREFL(ZAHEGRFA) 712
=p 2,530 *2001* 1200 & 608
—au 4303 20011200 = 104
Q20258 ZE0I2FE SEHEHSKLIP) =X
2 22,000,000 * 14! 22,000
202 04| 6,240 6,240
01 SLHoIH 6,240 6,240
OZAHE ADER(ZH)
98,0002 x5~ 122 5,880
OHEH XE & 8% H2(SN)
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308 AtXIEHMSOIE 3,000 3,000
13 S [2SOHe & EAS A 3,000 3,000
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750,000 *x2J4 A %23 3,000
401 A& B2 20HY| 1,160,000 1,240,000 280,000
01 AlEHI 1,156,850 1,240,000 A83,150
OZANHEEZ D28 BAHEZAIHEEZ
2T, S0EER, SENLANY S)
100, 000& *500m 50,000
OZAIHE Al SX22(MLEM 2T
L&, oA S) 70,000,000 14 70,000
ZSZO0IE & 22 Z2MEASE
500,000,000& *99.37% 496,850
O&etn M=R0I8 E3SAt
140,000,000 * 14 140,000
Ot uXtZ IHES AL
400,000,000& » 14! 400,000
03 Al CHYI 3,150 0 3,150
OZZOIIE o B2 FRWLA
500,000, 0002 *0.63% 3,150
el H = 380,100 446,950 66,850
401 Al&HIZ20HY| 380,100 446,950 A66,850
01 AlEHI 380,100 446,950 A66,850
0203 Ziok 22| H & (THAH]) 284
260, 100,000& » 14! 260,100
Ol Z2|HE(ANE:E2) AL 89
120,000,000 14 120,000
e+ XSS 1,000,000 0 1,000,000
s 1,000,000
401 AIEHIZL20Hb] 1,000,000 0 1,000,000
iy 1,000,000
01 Al&H| 1,000,000 0 1,000,000
OSEX7 SHEUE THA
1,000,000,000 &3 14! 1,000,000
s 1,000,000
SAZ2 & B30I 501,730 409,432 R,298
201 L2 | 45,490 33,372 12,118
01 At 22|l 9,140 7,052 2,088
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2,000,000 14 2,000
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OZz & LA ARE] =5
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02 S=29| 36,350 26,320 10,030
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03 AlESTHYI 2,520 2,331 189
OSY 2ZHHE MEEX
350,000,000 *0.72% 2,520
Al TH 24 207,400 9,360,000 /9,152,600
= 10,000
= 197,400
CAITHA R2HE 2 48,000 48,000 0
= 10,000
Ea 38,000
308 AXIHSOIA 48,000 48,000 0
=S 10,000
s 38,000
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= 10,000
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308 AHAIEHMSOIE 159,400 1,240,000 1,080,600
183 S| 2SO B XA AIE 159,400 1,240,000 1,080,600
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1,200,000~ 12& 14,400
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ANSEE Jlgtxd 11,072,000 2,689,000 8,383,000
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= 8,572,000
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03 AIZ S THYI 25,465 9,680 15,785
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25,465,000 * 14! 25,465
CEALEEE 3,244,476 4,133,376 888,900
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o 3,190,225
C2q EE 1,550,000 2,100,000 /550,000
T SEIAY 1,500,000 1,950,000 450,000
401 AIEHIX 20 1,500,000 1,950,000 450,000
01 AlZ2H| 1,495,320 1,945,320 450,000
ORE N3H(S7R 232]) €2 TR
At 1,300,000,000& %99.64% 1,295,320
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200,000,000& *14] 200,000
03 Al&20HH| 4,680 4,680 0
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At 1,300,000,000& *0. 36% 4,680
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405 AHaHE S 160,000 10,900 149,100
01 ML ESF SHI 160,000 10,900 149,100
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160,000,000 *1CH 160,000
2 HEFE 300,000 300,000 0
401 AlZHIZ SO 300,000 300,000
01 A28l 300,000 300,000
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202 04l 4,680 2,800 1,880
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401 AIEHIX R0 96,000 96,000
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401 AIEBIZ20HbI 8,428,050 6,950,260 1,477,790
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30,000,000 14! 30,000
OZIor XNA=Z AIH HHISA
30,000,000 14 30,000
O40tS ok FHISAH
40,000,000 14 40,000
OLlot 2= FHISAM
50,000,000 14! 50,000
OZIet DITHA = A HHISA
25,000,000 14 25,000
OlUi=0tS ot EHHISA
35,000,000 * 14! 35,000
OHU2 2uel s2EHESAM
30,000,000& *14! 30,000
OUSAOIS 52 FHIZA
40,000,000 *14] 40,000
OdlEe] JIEdIY EXISAt
30,000,000 * 14 30,000
Ok&EL| Mgz =ZAMY
20,000,000& 14! 20,000
Orlor FefalE A=HUISA
50,000,000 14 50,000
OLEZ AIHFZHISA
25,000,000 * 14! 25,000
O2X0ts sZ2EZSA
20,000,000& * 14! 20,000
OFA ZX= AIEH HUISA
47,000,000 14 47,000
OEElIltE A 2 == HHISA
40,000,000 14 40,000
OgsiE 28 & AIE HdISAt
43,000,0003 14! 43,000
S22 A 2 Hi=2 JHISAL
50,000,000 14! 50,000
O¢erd ol ot AWe X 3A
300,000,000 x 14! 300,000
QY& MU=z LXISA
30,000,000& *14! 30,000
O=& &HRL0IE s2EESA
20,000,000 14! 20,000
Oy A=z HUlS At
32,000,000 * 14! 32,000
Oog=30ts s2 & A5 Ex3A
35,000,000& *14! 35,000
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32,000,000 * 14! 32,000
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OE&llt= MHIHISA
30,000,000& »14] 30,000
OUXOtE At ZHISAH
30,000,000 *14! 30,000
O2sel set2 EXISAt
50,000,000 *14] 50,000
Oz 4l OtAZ THEESAL
60,000,000 »14] 60,000
O2dcl sZ2ZHSA
55,000,000 * 14! 55,000
OZd OIHSARE ZHSA
20,000,000 *14] 20,000
Oxotel Atd HHISA
30,000,000& * 14 30,000
OAEHE0IE ot HHISA
20,000,000 *14! 20,000
OSE0t= MH ZHISA
25,000,000 *14] 25,000
Odels 52 HEISA
40,000,000 *14] 40,000
OR7 FA AN SEBA
40,000,000& *14] 40,000
Odlot 52 LIZA
25,000,000 * 14| 25,000
OFIOH BXIA HXIZAl
15,000,000 * 14 15,000
Oetd HXI4 ZXISA
15,000,000 * 14! 15,000
Odd HX4H EXISA
15,000,000 * 14} 15,000
Ome EXI4& SXBM
15,000,000 * 14 15,000
OslE2Z ot OtAZ EEIA
15,000,000 * 14! 15,000
O2zcl sZZHSA
20,000,000 * 14 20,000
Odllel s2 MEHESAH
5,000,000 14| 5,000
OLitE 4= EXISA
45,000,000& *14] 45,000
OxoH o= =2 & AIH ZHISA
50,000,000 * 14 50,000
OO0t Ulot= M2 ZHISA
20,000,000 x 14 20,000
O=&0t= Ot=2t2 ZHISA
15,000,000 * 14! 15,000
Oucllls s22& & ti+2 EXISA
44,000,000 * 14 44,000
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OSdits =2 ZHISA
22,000,000& »14] 22,000
OMe LES A FHHIZA
45,000,000 *14] 45,000
OXIMOE AFH EHISAH
10,000,000 * 14! 10,000
Odetalls 28 LISA
85,000,000& *14] 85,000
OA=0t= M & =2 ZHISAH
40,000,000& *14] 40,000
Orlet === A HUISAH
30,000,000 *14{ 30,000
Odgt HUHE =2 ZESA
28,000,000& x 14 28,000
OZlet HLIRZ= Al ZHISA
30,000,000 *14! 30,000
O&d el AMH ZHISA
45,000,000& *14] 45,000
OFdI0tS At ZHISAE
20,000,000& »14] 20,000
O201Z Atd HHISA
27,000,000 *14! 27,000
Oz 52 & =2 EHISA
45,000,000& *14] 45,000
2AQEOIE AIH ZHISA
50,000,000& » 14 50,000
ORFH =23 M HHISA
20,000,000 * 14! 20,000
Od= Atz S22 ZdSAM
35,000,000 * 14 35,000
OS& M7 & AR FHIZA
30,000,000 * 14 30,000
OZlgt ZHZA0IZ= AHH ZHISA
30,000,000 *14! 30,000
Od=+ SH0tS Ot &2 SHISA
30,000,000 * 14 30,000
Odot = =2 ZHISA
40,000,000 *14] 40,000
o8 1 Al HHIBA
20,000,000& *14! 20,000
O¢etd afel Al ZBISAL
20,000,000& * 14| 20,000
OStd A2z A5 EXISA
20,000,000 x 14 20,000
Oetd XIAF ME EHISAL
20,000,000 *14! 20,000
Oetd Zat AHH FHISA
20,000,000& * 14| 20,000
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O AT s2XE L =2 3At

20,000,000& 14! 20,000
OYSE MYEZ 2T L2 AXIS A

43,500,000 *14] 43,500
O20M=s2 MLEZ H2tE X SA

41,500,000 14 41,500
O=20t014h F=XHE=H FHIZ A

55,000,000 14! 55,000
O7REC &A2dH THItd SAt

100,000,000 14! 100,000
OS7 £A4IB 22 BN

55,000,000 * 14! 55,000
OB &AB ZA: ARA

22,000,000& 14! 22,000
OFH HHZ ATHS AL

22,000,000 14 22,000
OU=0t= A=K otELH2E DAL

55,000,000 * 14! 55,000
O&# &lts tla Ex13At

55,000,000 14! 55,000
OXIAIOFS AHH ZHIS A

40,000,000 *14] 40,000
Oota =&l AtH HUIZA

40,000,000 14 40,000
Ootd SZ= At EUISAH

60,000,000 14! 60,000
O¢ctd S8 0= Al HHISAt

40,000,000 *14] 40,000
Ot Ale| JtEY Y XIS A

30,000,000 * 14 30,000
OCHE AIE ot D=l EXISAt

20,000,000 14! 20,000
OEY &3l U2t AXIZA

20,000,000 14 20,000
Oad JA0tet St AL EXISAL

20,000,000 * 14! 20,000
O=& U=cl &AL EXSA

20,000,000 14! 20,000
O=s¢g =0t et dXISAt

10,000,000 14 10,000
OS& =512 JI=HY EXI3A

10,000,000 & * 14! 10,000
O=sg sacl &2 AXISA

15,000,000& 14! 15,000
Oss B=0I2 JIEHY EXI3Al

12,000,000 14 12,000
O&d A% JtEdld dXISA

40,000,000 14 40,000
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22,000,000& »14] 22,000
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30,000,000 *14! 30,000
Od= 23 &8 MHESA

40,000,000 * 14 40,000
OBt NS SZ2RYSA

15,000,000& * 14 15,000
OIQH &J19} JI=dY EXISAt

15,000,000 * 14! 15,000
Odlgt AEA JIEY Y EXISA

15,000,000 * 14} 15,000
Odlet 712 It EXISA

40,000,000 *14] 40,000
OXICH &l Jt=ele EXISAL

11,000,000& * 14! 11,000
OR7 =2l Al ZHISA

40,000,000 * 14 40,000
Ootd S0t SF I

30,000,000& »14] 30,000
OF7 QN 52 ZHSA

40,000,000& *14] 40,000
O3t 42 orZ ZHISA

20,000,000 * 14| 20,000
OE Jte= 0A2 MEHSA

35,000,000& * 14 35,000
OZIoH = AtH FHHISAL

20,000,000 * 14! 20,000
Od= 213cl OtAZ MEZSAL

20,000,000 * 14 20,000
O2&3d AHHE FHISA

35,000,000 * 14 35,000
OEEtlltE o2 JHISAH

32,000,000 * 14! 32,000
Odd =0t AHHZHISA

30,000,000 * 14 30,000
oY 202 ZHISA

10,000,000 * 14 10,000
OFd F20t= HH ZHISA

38,000,000 * 14! 38,000
OZA OtX0tS OtAZE ZHSAL

40,000,000 * 14 40,000
O 232l s2 L AMH ZHISA

60,000,000 *14] 60,000
Octd 0ld= HH JUISA

20,000,000 *14! 20,000
Oad a2 AlH ZHISA

20,000,000 * 14 20,000
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20,000,000& * 14!

OS8 £ HMEFHIZA
30,000,002 14!
35,000,0002%14]
40,000, 0002 %141
35,000,002 %14]
30,000,0002%14]
20,000,00021*14]
20,000,002 %14]
15,000, 0002 %141
20,000,00021*14]
20,000,002 %14]
15,000, 0002 %141
10,000, 0002 %141
20,000,002 %14]
20,000,002 %14}
OO ¥iE M= o =2 THIA
25,000,00021*14]
15,000, 0002 %141
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20,000,00021*14]
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20,000,000& * 14!
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Od=s AX S2EYSA
20,000,000& » 14 20,000
Od= gHR= AIHIHISAH
12,000,000 * 14 12,000
Ome S8 MEBAl
12,000,000 * 14! 12,000
OZd 28 453A
10,000,000& » 14 10,000
OZlet 23l3s FHISA
20,000,000 *14! 20,000
Od= HE SZ2EISA
20,000,000 *14{ 20,000
O&3cl AlHEH & SSHEESA
40,000,000 *14] 40,000
Oetd AtEHIEH| & B2 S At
55,000,000 * 14! 55,000
OME PE2| S2LEZA
25,000,000 *14{ 25,000
OAt=0tE e+ OtAZE ZHZAL
30,000,000& »14] 30,000
O™ &2l & =2 & AIHEHISA
30,000,000 *14! 30,000
OMe SWOIB AR FHHIBA
30,000,000& * 14| 30,000
OULEOIS ot OtAZ THEHSA}
25,000,000& * 14 25,000
OF &8l MHEHISA
20,000,000 * 14! 20,000
Oxlgt 419401 HE FHISA
42,000,000& *14] 42,000
Od2=z0t= A= ZXISA
20,000,000& * 14 20,000
OH=0E M & =2 FHISAH
35,000,000 * 14! 35,000
Ozlet SHUXtZ 2F AIH ZHISAL
37,000,000 * 14| 37,000
OXet Hlel sSZ2EHSA
23,000,000& * 14 23,000
O=Fd ot2ret= AlH EXISA
27,000,000 *14! 27,000
Od= A=0te 52 ZESA
25,000,000 * 14| 25,000
O8" 31822 0tAZE ZEBA
20,000,000 x 14 20,000
ORF SHF 2ne AXI3BA
50,000,000& *14! 50,000
ORF SHUII= AFHEHISA
45,000,000 * 14 45,000
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24,000,000 & x14! 24,000
07 +ael 0 SETA

50,000,000& * 14! 50,000
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FAN AZUSH
B =oiAmeiYs)
el e8|l (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OLletE BtSE =2 3At
12,000,000& * 14 12,000
OZIotg AEX| =23 At
15,000,000 * 14! 15,000
Olets Jetd =2 3A
20,000,000 *14{ 20,000
Oz algel =2 EXISA
30,000,000& » 14 30,000
03 AIZ S THYI 34,755 36,223 1,468
OgsJIEAE2E A2
34,755,000 34,755
FelAE= 72l 765,023 597,084 167,939
101 e124d| 116,107 105,072 11,035
M ORNZZ2NSE S 116,107 105,072 11,035
OXM==Al &2 22
34,3002 %112,834m «0.01m x32] 116,107
201 Ler=23| 18,916 58,916 240,000
01 AtR2te|Hl 15,316 15,316 0
O=sg82d =ZFA
109,400 * 14004 2 15,316
02 s3=gHl 3,600 43,600 240,000
O=x2INEE(332= §7)
3,600,000& *14] 3,600
401 Al HIZL 01| 430,000 433,096 23,096
01 Al&H| 430,000 430,000 0
FclAlEdE A2
70,000,000& * 14 70,000
O=sgE 28 2A
10,000,000 * 1574 2~ 150,000
OM=XA&I| 2+=SAt
5,000,000 * 1094 2= 50,000
OM==Xl =L SAt
30,000,000 *4JH 2 120,000
OXN==Xl E=ZAt
20,000,000 *2JH 2 40,000
403 AXIEHHSAH=201H 200,000 200,000
02 SIS0t =2 H A AEHI 200,000 200,000
O=x2lANEdE |A2A2(EX)
200,000,000& *14] 200,000
SE KHLA (=H]) 645,000 500,000 145,000
= 645,000
401 Al HIZL S 0HYI 645,000 500,000 145,000
< 645,000
01 A28l 645,000 500,000 145,000
O= 7 DI=0t= gt JHISA
30,000,000 *14! 30,000




SN AMDED
HE: SoiAMRIAG
ST RS SPONSIE=TE
2 s IE]
SA - B S9(SH) - NIRAY - BES ol &t e
= 30,000
OS7 AHFOIS 3t BB
30,000,000 *14! 30,000
= 20,000
OZ& UHIS =AY
30,000,000& %14 30,000
= 30,000
OO D122 HEtAr
30,000,000& *14! 30,000
= 30,000
OR7 SU2l 4=
21,000,000& *14! 21,000
= 21,000
OS8 01283 JUIBA
40,000,00021% 14} 40,000
= 40,000
Otz 22| SREITA
40,000,00021% 14} 40,000
s 40,000
O 420IS S2IHITA
10,000,000& * 14! 10,000
= 10,000
OM% =02 4z FHIZA
20,000,000 * 14! 20,000
& 20,000
OFE YWl SRLITA
17,000,000 * 14! 17,000
= 17,000
ONE VB HEZYTA
25,000,000& *14! 25,000
= 25,000
O=7 OIS P2 AWM
30,000,000 141 20,000
= 30,000
O=7 HBOIS 42 SAH
30,000,000& %14 30,000
= 20,000
OFF HANIS 4= FUIBM
50,000,000& *14! 50,000
= 50,000
OO 28 AIEEIZA
40,000,000 * 14! 40,000
= 40,000
OOt B2 Hj42 LXBA
20,000,000& *14! 20,000
= 20,000




FAN AZUSH
B =oiAmeiYs)
el e8|l (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OB th+2Z ZHIZA
25,000,000& »14] 25,000
= 25,000
OO izl ARIFHIZ AL
45,000,000 x 14 45,000
= 45,000
Odloh 2& AHHEHIS AL
45,000,000& x14] 45,000
= 45,000
Ot AN s4+2 HISA
25,000,000 * 14| 25,000
= 25,000
OJIgt =42 Gt EHISA
32,000,000 *14{ 32,000
& 32,000
Ose dt =23 At
10,000,000 * 14! 10,000
< 10,000
SIIBHEHI (el AIEN =) (HEALY) 1,260,000 1,000,000 260,000
== 1,008,000
o 252,000
401 AIEHIZ SR 0HYI 1,260,000 1,000,000 260,000
< 1,008,000
= 252,000
01 Al&H| 1,240,722 983,400 257,322
(OE=INESPIISERESESY
1,260,000,000& *98.47% 1,240,722
= 1,008,000
Ea 232,722
02 Zeltl 19,278 16,600 2,678
FeIAENE (D &)
1,260,000,000& x1.53% 19,278
SYE TN 350,000 560,000 A210,000
401 Al HIZL 201 350,000 560,000 A210,000
01 Al&H| 347,480 560,000 N212,520
O=gS8 2AFMLSAHGIMNA)
70,000,000 »5JH A-x99. 28% 347,480
03 AIZSTHYI 2,520 0 2,520
O=eE 2AZNLSAHGNL)
70,000, 000& *5IH 2=*0. 72% 2,520
SHoll CHEY AL 90,000 60,000 30,000
[ 27,000
T 63,000
401 Al HIZL 201 90,000 60,000 30,000
= 27,000




2A:

E M

1

O O ¥
9 12 Nx
0z oY EJ
02 O
Jn
S

]l EERCED

r

S
o
0% 10

ol

SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2

H

63,000

01 AlIZHI 90,000 60,000 30,000
OJts FHAXNSE AHE S HE ALY

90,000,000& * 14! 90,000
27,000
63,000

M

SAIIBHEHI (LD EHEH]) (M EALY) 200,000 200,000 0
180,000
20,000

M H

401 AlEHIZ 201 200,000 200,000 0
180,000
20,000

M

01 AlZHI 200,000 200,000 0
O™ A (& &

200,000,000 14 200,000

180,000
20,000

M

n

SHIIBHEH (=R S D1 BEXIR ) (M SFALY) 490,000 530,000 40,000
441,000
49,000

A

401 Al HIZ 2018 490,000 530,000 240,000
441,000
49,000

M

01 AlZHI 490,000 530,000 240,000
O=o =S U D[ BHXI AL (X &)

490,000,000 *14 490,000
441,000
49,000

Mo

THOHRAE R HAYI(2X) 100,000 250,000 150,000
30,000
70,000

A H

401 Al HIZL 201 100,000 250,000 150,000
30,000
70,000

M

01 AlZHI 100,000 250,000 150,000

OAtZ = AIE EHIAE
100,000,000 * 14! 100,000

30,000
70,000

M

&l (HEAL) 1,902,000 0 1,902,000
1,778,000
124,000

M H

401 Al HIZL 201 1,778,000 0 1,778,000
1,778,000

H




FAN AZUSH
B =oiAmeiYs)
Rl ST BHE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 1,778,000 0 1,778,000
&EXF U3 NI AE
1,778,000,000& 1,778,000
= 1,778,000
403 AXIEHHSAH=0lH 124,000 124,000
02 SIS0t 2 S A A 124,000 124,000
Og=ssdi+ B NIA
124,000,000 *14] 124,000
HH==OH & (R EHALY) 4,985,000 0 4,985,000
= 4,385,000
= 480,000
= 120,000
401 Al HIZ S 0HHI 4,985,000 0 4,985,000
= 4,385,000
< 480,000
= 120,000
01 Al&H| 4,985,000 0 4,985,000
OUtE X7 A2 HH==IH& AL
600,000,000 » 14 600,000
= 480,000
Ea 120,000
OHEXIF bH==IHE A
2,285,000,000& *14] 2,285,000
= 2,285,000
OU X7 Bi==oH &AL
2,000,000,000& *14] 2,000,000
= 2,000,000
O2& X7 ==& A
100,000, 000& * 14! 100,000
= 100,000
STdgEF | 2,112,600 1,570,000 542,600
SEXSAINLAL (XEH) 2,112,600 1,570,000 542,600
201 er23| 12,600 0 12,600
01 AtR2t2|HI 9,000 0 9,000
OSEXNY HES I AXE
750,000 * 122 9,000
02 S22l 3,600 0 3,600
Oaxtxte s=4l 300,000 * 122 3,600
401 Al HIZL 201 2,100,000 1,570,000 530,000
01 Al&H| 2,100,000 1,570,000 530,000
O&72 XNGMEAME DIN=SEXN 2=
300,000,000 * 14 300,000
OsgEtiHEA
6,250,000 * 1604 2~ 1,000,000




FAN AZUSH
B =oiAmeiYs)
ol sEdEed gyl EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZletg AHA0lE A2 WE HEX
200,000,000 » 14 200,000
OSgd 2= sZHESA
200,000,000 *14] 200,000
OuHOIE OtAE ZEHBA
90,000,000& * 14| 90,000
Ool0I0tE AFHEHISA
50,000,000& » 14 50,000
OZXAts Ui=s=i& 2 EBISA
260,000,000 *14] 260,000
HANSHEFEA 13,138,320 10,610,027 2,528,293
= 49,590
= 2,564,050
) 76,725
& 1,205,839
= 9,242,116
nSSFEASA 13,138,320 10,610,027 2,528,293
= 49,590
[ 2,564,050
Il 76,725
< 1,205,839
T 9,242,116
FUNSH == 690,560 964,694 A274,134
= 5112
= 685,448
201 Ler=23| 195,050 183,436 11,614
01 At2teltl 87,320 89,380 2,060
OnETR AEAS HAHLY
70,0008 x7H =23 980
Otz s E§F=8 =4I
9,000 68 +bed~ 123 2,700
ORI NSEH=IH HIIBME==2
1,230,000 480K 2~ 59,040
OUSEAN & WSAHL 0ig 222 M=
5,600,000& 14] 5,600
OSHEHA SAIAE X2+
19,000,000 * 14! 19,000
2 352484l 107,730 94,056 13,674
O=E7(MHSAtzd) 16,330
—get 4302 *1,5000H* 12& 7,740
—SI 2,530 x2500K = 122 7,590
OAEE HIIANSBE XS (RASSEEH, A
S5, LR 8) 6,500,000& «12& 78,000
OLISHOD MHSAIAE HEH AIZE
1,200,000& 122 14,400
202 04dl 8,760 8,160 600




FAN AZUSH
M JANSHEFA
el WSEEEYsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 2LHoIH 8,760 8,160 600
ONEHE AL (5N
130,000 x5 * 12 7,800
OSEAEZE A XIF 2 At SX(BE
=4) 20,0002 #45|» 122 960
207 AR 80,000 15,000 65,000
NEEEET 80,000 15,000 65,000
ONDE S0E L DEHA AUEA B
52,000,000 * 14| 52,000
OXRE SOHEBA SAHZA 2
28,000,000 x 14 28,000
301 EtE NS 406,750 286,098 120,652
== 5,112
o 401,638
14 JEt2a s 406,750 286,098 120,652
Orlotg nsSAAXNS Hsus AN
13,5302 x600& 43| 122 389,664
OHAIRS IHe =2 K&
30,0002 x40CH* 12& 14,400
= 4,320
Ea 10,080
OgAIRa e SME X (24l It 463
) 2,686,000 x14] 2,686
[ 792
T 1,894
WSHM Al 2te] 1,299,441 962,827 336,614
= 4,500
[Ea 1,294,941
101 @124H| 63,641 57,826 5,815
04 JIZtNZ22 NS+ 63,641 57,826 5,815
OHA20Is2dd ed2Ac|2a 63,641
—JlZ2s 85,9103 x2H 220! 37,801
—F=5=g 85,9103 x2&H »445= 7,561
— o x==g 91,9102 x2& » 14 2,574
—ReRdsE 85,9102 x2&» 14 2,406
—uwSH| 2,0003 28 =220 880
—E804dl 6,000 28 =220 2,640
—a=4tl 4,000 x2&*220 1,760
—HESFIHI 300,000 x22H+23] 1,200
—4Ui28= 56,822,000 *12% 6,819
201 fet=3| 82,000 62,000 20,000
01 AtR2t2|HI 2,000 2,000 0
OHAsdE sz 227
2,000,000& *14] 2,000




A A4S
M JUNSHFFA
ol usSetBEelsd (SH9 H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
02 S22l 80,000 60,000 20,000
OuESHNMAIEE AXILE(2IA L 212
dE LYAl) 80,000,000& » 14 80,000
401 AlEHIZ S 0HbI 1,153,800 843,001 310,799
S 4,500
ia 1,149,300
01 AIZHI 1,153,800 843,001 310,799
OuSotMEXIE AX L FX2=(SIHA
f) 50,000,000& *14] 50,000
ONEREE X 2 |XS=(SIHAS)
10,000,000 x 14! 10,000
O=2HEXE 4X & RALS=(SIHAH)
30,000,000 *14! 30,000
OnsAsI| &X ¥ |XL2=(SIHAH )
100,000,000& * 14! 100,000
OXEEM o SHIA SR (SIFHS)
100,000,000 x 14! 100,000
OHASZE & SUSLE FXE=(E0t
Hlet) 60,000,000& * 14! 60,000
OHASZE LHOX} FXIL4=(SHIHH )
38,000,000 *14] 38,000
OblAs2d S$HASEX HI|EHISA
900, 000 *307H A 27,000
OHASZE S 2 HIJIR(E2)AI4 &X
At 5,300,000 *40H 2~ 212,000
OHAsZE XA
14,000,000 +20H 2= 280,000
OIS XA
2,500,000 40 2 10,000
OErAIE EXIAHE 800, 0003 *40H 32,000
OgZs WSt EXT XA
2,000,000 *20K 40,000
ORUWSHEItN et BXIALY
25,500, 0002 <24 *20H A 102,000
ONAHA s2E ALY
15,000,000 * 1004 15,000
S 4,500
ia 10,500
Og8H=2EX OfUEZD| &X
47,800,000& 14 47,800
Helol B33 IHAAIL (HEALY) 625,000 700,000 275,000
== 312,500
= 312,500
401 Al HIZ 201 625,000 700,000 A75,000
= 312,500
i 312,500
01 AlZHI 625,000 700,000 275,000




FAN AZUSH
M JANSHEFA
el WSEEEYsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O0lgl0l 2579 ALY
625,000,000 x 14 625,000
= 312,500
Ea 312,500
WEAL SEWSHCHEH SHA) &5 398,740 308,000 90,740
= 40,000
Il 76,725
[Ea 282,015
307 el2to| & 398,740 308,000 90,740
= 40,000
Il 76,725
= 282,015
05 2IHRIE S 398,740 308,000 90,740
OSEus+t 2 (JMASHA 22
X&) (2l F=It 102,908 &)
99,685,000& 4= 398,740
= 40,000
7l 76,725
= 282,015
2gHd RIELSKA 600,000 600,000
307 elztol & 600,000 600,000
09 2+ AHELS 600,000 600,000
O2+gH(sHEHA, A, SI2XSIH)
=?II2ES 50,000,000& x12& 600,000
HOIE2gH =X 181,015 165,414 15,601
< 9,360
[Ea 171,655
101 e124d| 39,055 44,894 25,839
M ORNZZ2NSE S 30,085 44,894 A5,839
O=S8HAHIIE 238l AT 39,095
—Jl2= 53,7003 x2ZH*183 19,655
— St 2,000 %2 » 183 732
—=4| 4,0002x2& »183! 1,464
—F=5=g 53,7003 28 30! 3,222
—5L2F+H 89,5503 x2& 402 7,164
— %X 59,7003 x2& 12 1,433
—HE=JH 300,000 x2H*23] 1,200
—4HEE= 34,869,000 *12% 4,185
201 Ler23 | 6,240 6,000 240
01 At22t2lt] 6,000 6,000 0
OSSHAHDIE 2184 =571Y
50,0002 x1202 A 6,000
02 S3=gl 240 0 240




FAN AZUSH
Hu: NNDSHYEX
el WSEEEYsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSSHAHIIE &4 HI4E AL O
=1=d 20,0003~ 122 240
301 EtE2 NS 44,400 44,400
14 0Bt 2a=S 44,400 44,400
OSEHAHLIE MHEr2 A&
3,700,000~ 128 44,400
307 212+01& 60,120 70,120 10,000
0 2=FAHEXS 60,120 70,120 10,000
OZ2SHAHDIE HEH 12H K&
3,400,000& «12& 40,800
OSsHAHLIE )| &l K&
360,000 x 122 4,320
OSSHAHDIE OtES2t 28H] XI&
1,250,000« 128 15,000
402 BIZtAH=01A 31,200 0 31,200
S 9,360
= 21,840
02 QI X2 AL EE(0IHTHE) 31,200 0 31,200
OW S DS SHIALY
31,200,000 * 100 £ 31,200
= 9,360
Ea 21,840
ZABIS NIE AL 61,714 59,514 2,200
403 AXIEHHSAH=201H 61,714 59,514 2,200
02 S 2SOt et = & 2 E AL H] 61,714 59,514 2,200
OHAHEAIAR(BIS)RXI 2=
61,714,000 * 14| 61,714
SeYAHEAEANHA 3,79%,274 2,964,423 831,851
= 340,000
[ 193,585
Ea 3,262,689
307 elztol & 3,796,274 2,964,423 831,851
s 340,000
s 193,585
s 3,262,689
00 2F=SHEXS 3,796,274 2,964,423 831,851
OHAHLL=H &a2ds
422,868,330 x14] 422,869
OsO0HEHA 2ts =424 X2
1,00024+30,000H 30,000
OsHEHA 23 t=gel X
502 %120,0002] 6,000
Os0EHA HHX 22H K&
120,000,000 *2CH*50% 120,000
OZUHA gHIld 24243
765,441,2303 x 14 765,442




FAN AZUSH
M JANSHEFA
el WSEEEYsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 340,000
2 495,442
OS0|EH A WHXIR(2H %} 2,004,796
) 2,451,962,970&3 x 14 2,451,963
= 193,585
o 2,258,378
WESAMA2S XS 22,060 45,000 A22,940
307 212+01& 22,060 15,000 7,060
02 LB HAHE L 22,060 15,000 7,060
Oz o2d -2 =
10,000,002 14! 10,000
ORgedns 292 19
402,000 *30H 12,060
Lotz HFEHA 24 1,841,882 1,918,800 AT76,918
[ 837,000
= 140,000
o 864,882
301 LEtE N = 388,800 388,800 0
= 135,000
o 253,800
4Bt 2as 388,800 388,800 0
O#=2eAl X (2H] £t 118,808 2)
4,050,000 ~8CH* 122 388,800
[ 135,000
[Ea 253,800
307 glztol & 1,453,082 1,530,000 AT76,918
= 702,000
== 140,000
[Ea 611,082
0 2= AHEXS 1,453,082 1,530,000 AT6,918
O#=2HA XA (2] £} 49,0828 %)
12,419,500« 13CH+0Z 1,453,082
= 702,000
== 140,000
o 611,082
FXHE AL 2t 16,000 26,000 10,000
201 er23| 16,000 6,000 10,000
01 At2tltl 16,000 6,000 10,000
OMELlE SAIFIE 22X AISE
10,0002 #5081 x 122 6,000
Osg=xd =Al2el
10,000,000& * 14! 10,000
WSAANSHEHACISKIE 414,720 623,130 A208,410
307 212+01& 414,720 614,880 A200,160
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FAN AZUSH
M JANSHEFA
el WSEEEYsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 135,300 117,325 17,975
14 IIEt2 83 135,300 117,325 17,975
OTlekg ATHAIA =SEHAl 22 (5U)
110,000 *5CH #2462 135,300
L8N 2SS AL QIHEIE XJAS 10,600 10,600 0
= 1,590
= 1,590
= 7,420
301 EtE N = 10,600 10,600 0
= 1,590
< 1,590
s 7,420
14 JIEt2d=3 10,600 10,600 0
ODNEX STPSIZ NFEH QHEIS X
el 200,000 %53 10,600
= 1,590
< 1,590
= 7,420
BAN2HEFE2CIAAE 2 474 440 4
403 MR HHMSAH=01H 474 440 U
02 B2 S0t 2 S A A 474 440 7
OHASHEDRRIAAL 22 U ST 4
474,000 *14] 474
EBASSNE S370H 0HE XAS (HEALY) 22,080 7,800 14,280
== 6,624
[Ea 15,456
401 AIEHIZ R HYI 22,080 7,800 14,280
< 6,624
s 15,456
01 Al&H| 22,080 7,800 14,280
OHASZE BAZEIT LXI(ZHIEII8,8
REF) 2,208,000 1000 2 22,080
= 6,624
Ea 16,456
o E57Y JHEAY 20,000 0 20,000
== 10,000
o 10,000
401 AIEHIZ SR 0HYI 20,000 0 20,000
< 10,000
= 10,000
01 Al&H| 20,000 0 20,000
Okl 2579 HEA
20,000,000& » 14 20,000
= 10,000




FAN AZUSH
M JANSHEFA
el WSEEEYsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| = 10,000
SYSNEHEAF 34,400 34,400
201 et 3| 34,400 34,400
01 At22t2l] 34,400 34,400
Osg=X2te+Y 10,0002 +8000H 8,000
Oss=xIIC egal|
2,200,000&12& 26,400
A0LEYCX] 28 ¥ ALY 1,981,500 0 1,981,500
[ 1,387,050
o 594,450
401 Al HIZ S OHYI 1,981,500 0 1,981,500
[ 1,387,050
s 594,450
01 Al&HI 1,981,500 0 1,981,500
OADIE nSUHTAIAHE A=
1,981,500,000& x14] 1,981,500
= 1,387,050
= 594,450
Hsustl a2 X2 16,000 0 16,000
= 8,000
Ea 8,000
308 AtXIEMSOIE 16,000 0 16,000
= 8,000
s 8,000
13 S [2SOHe & EAS A 16,000 0 16,000
OtisnstH #SX3(K-TH2)
16,000,000 * 14! 16,000
= 8,000
s 8,000
HH2LZH(ALnSH) 263,840 260,412 3,428
plE2EH(H&nsn) 206,010 205,54 416
el (AL nsSn) 206,010 205,54 416
101 ©1AH| 206,010 205,54 416
01 2= 186,341 190,645 A4,304
OAIZt2|==E 175,125
—62 12,8847 *50A1 2t 122 54,113
72 11,6022 6 *50A1 2+ 123 41,768
—8= 10,4162 x7E*50A1 2+ 122 43,748
—9= 9,860 6 *50A| 2H+ 123 35,4%
OX<IH&HI 180,913,000 3% 5,428
ONERY gRFA A2 5,788
—6= 12,8843 %2+ 17 A 2H6E 2,191
7= 11,6022 x 1+ 17 Al 2H6E 987




FAN AZUSH
M HYRAZH(ALLS)
Cel: QIEHH|(ALWED) (S & 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—82 10,4162 x2Z+17 Al 253 1,771
—9= 9,860 x1H*17Al2H+63 839
03 SRA(RIH )22 U2+ 19,669 14,949 4,720
OYLARE X 15,890
—%552(19) 4,155
NEEEEER
22,0063« 1H~15A12++ 123 3,978
] 176, 7602 x 18 x1& 177
—285=(19) 4,07
NEILTEE RS
21,6502« 1 =154 2+ 123 3,897
] 173,162 x 18 x1& 174
~ 1z =(12) 3.908
A2 2R+E
20,7812 x1H*15A1 2+ 123 3,741
FL2PE 166,248 x 18 +1&d 167
—1bzE(19) 3,756
A2 22
19,9773 x1&8*15A1 2k 122 3,5%
e ] 159,816 1&x1&d 160
OYIREXH 3,779
—-11z8(19) 3,779
- A2l
20,0073 *1H=15A12Hx 123 3,618
e ] 160, 776318 x1&d 161
Jl2gs(ALnsSn) 57,830 54,818 3,012
JlEZel(A4ns) 57,830 54,818 3,012
201 el 47,814 44,898 2,916
01 At2teltl 47,814 44,898 2,916
OARIDI2E(3Y)
198,000 x5E* 122 11,880
O=AHI(E%) 9,000 x27rE &« 122 26,244
OU2R=2(5N) 200,000& * 128 2,400
OJIEt2ZHI(Z%H) 607,500 122 7,290
202 04l 3,600 3,600
01 SLHoIH 3,600 3,600
O=U0HI(Z) 300,000 «1H*12& 3,600
203 HR=AH] 6,416 6,320 %6
03 A= PR FA| 2,000 2,000 0
OAIHFA JR=LY| 2,000,000 2,000
04 PAE2EERFAH 4,416 4,320 %
OfRAEE gR=2ad|
368,000 122 4,416




